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1 100kN/mM##BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00] 000 ~ 393 49.27] #huist 1000 ~  393| 2.10 11.25 ZThLLSE 1.00| 500 ~ 504 49.27| Thils | 500 ~ 504| 2.10 11.25
9 100kN/mM#%#BZ % = -~ = -|3m%EiEZ S -~ = = -| 100kN/MiZE#BZ 5 = -~ = -|3m#FB23 = o - - -
Zh st 1.00{0.00 ~ 6.93 87.82| #hLlst | 000 ~ 6.93] 1.81 9.71 Zh LS 1.00| 500 ~ 8.63 87.82| huls | 500 ~ 863| 1.81 9.71
3 100kN/mM##8Z % 1.00/ 000 ~ 0.70 110.37|3mZ#BZRB| - ~ = = -| 100kN/iZi#8 % % 1.00| 1091 ~ 12.91 110.37|3m%#BZ % -~ = = =
Zh st 1.00{070 ~ 848 100.00] Zh st | 000 ~ 8.48| 233 12.48 Zh LS 1.00|] 5.00 ~ 10.91 100.00| Zh it | 500 ~ 12.91] 233 12.48
4 100kN/mM#%# 8% % 1.00{0.00 ~ 0.93 113.99|3mZ#BZB| - ~ = = -| 100kN/iZi#8 % % 1.00| 10.92 ~ 13.70 113.99|3m%#BZ % -~ = = =
Zh st 1.00[093 ~ 872 100.00] #h st | 000 ~ 872 233 12.48 Zh LS 1.00|] 500 ~ 10.92 100.00f #h it | 500 ~ 13.70] 2.33 12.48
5 100kN/mM#%# 8% % -l -~ = -|3mZz#BzZ| - ~ - - -| 100kN/mZ# 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00[0.00 ~ 7.29 92.90| ZhLlst | 000 ~ 7.29] 1.72 9.21 Zh LS 1.00|] 500 ~ 9.39 92.90| Zhulst | 500 ~ 939| 1.72 9.21
6 100kN/mM#%#BZ % -l -~ = -|3mZzBz3| - ~ - - -| 100kN/mZ#8 25 = -~ = -|3m%i#Bz% -~ = = =
Zh st 1.00[0.00 ~ 456 56.92] #hList | 000 ~ 456| 157 8.39 Zh LS 1.00| 500 ~ 505 56.92| #hLlst | 500 ~ 505 1.57 8.39
100kN/mM#%# 8% % ~ ImERBZD ~ 100kN/mM#Z#BZ % ~ ImEEZD ~
ZFhn st ~ ZFh st ~ Zh st ~ Zzh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ ZFh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh st ~ Zh st ~ Zh st ~ ZhLst ~
100kN/mM%#EZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZFh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#EZ % ~ ImEEZD ~
Zhn st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%#EZ % ~ ImEEZ D ~ 100kN/m%#BZ % ~ ImEEZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ Fh s ~ Zh st ~ ZhLS ~
100kN/mM%#E% % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
LS ~ ZNLSE ~ ZThLst ~ ZTHLSE ~ |
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